About 2,000 small islands make up , which sitsjust east of the

Philippines. Pacifica
Polynesia
Micronesia
Melanesia

| think the answer is Polynesia but | am not 100% sure. A little help?

Answer:
| believeit's Micronesia, C.
Explanation:

Hope my answer has helped you!

in order to make sure that audiences can correctly hear all the syllables of the words you are speaking, it is necessary to make sure you have correct
enunciation b. pronunciation c. intonation d. elucidation

Why did the debate over slavery resurface after the temporary |ull achieved by the Missouri Compromise?

What vertical distance will abody dropped from rest fall in 12s of free fall

Which element of a business document provides additional information but is not a part of the body of the text? 1. subject

2. footer

3. salutation

4. closing note

The english colonies in the new world were settled mainly in areas where they could

Which statements are true according to the order of operations? Choose exactly two answers that are correct.

.a



7+6+4=7+10=70

16— (4+7)=12+7=19

10+(6+3)=10+2=12

2+5¢7=2+35=37

Which of the following equation have only one solutions? Select all correct answers. 4x"2+4x=0

XN"2+6x+9=0

Ix"2-25=0

5x"2+20x+20=0

X"2-x-6=0

At least 5 cute livestock pig names for both genders

This person led so many slaves to freedom, he or she was sometimes called by the nickname Moses

What is enriched food?

"IPLEASE HELP!"

How can harmony be achieved in creating awork of art?

John ran the? 100-m dash with atime of 9.979.97 sec. If this pace could be maintained for an entire 26 dash mi26-mi ?marathon, what would his time? be?
two vertices of atriangleis (1, -4) and (6, -4). List two possible coordinates of the third vertex so that the triangle has an area of 20 square units
4Cr(s)+302(g)?2Cr203(s) calculate how many grams of the product form when 21.4 g of O2 completely reacts

Mattttttthhhhhhhhhhhhhh , i need help Find the equation of aline that goes through the points (0,3), and (?10,4).



ay=7110x+3
b.y=710x
c.y=7110x
d.y=713x

ey=710x+3

Why was Saint-Domingue one of the richest coloniesin the Caribbean?

A line has aslope 5/6 and y- intercept-3. Which answer is the equation of the line?

a y=5/6x+3

b:y=-3x+5/6

c:y=5/6x-3

d:y=3x+5/6

You have an iv infusing at 125 ml/hr. how many hourswill it take for 1500 ml to infuse?

1. Home
2. More Solution



https://heritage.bafta.org
https://heritage.bafta.org/newest/page/480

